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POLITICAL SCIENCE
PAPER—II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The thinker who had accepted the fundamentals of Aristotle’s political thought in the
medieval period was :

(A) John of Salisbury (B) St. Thomas Aquines

(C) Gregory (D) Wrycliffe

2. Who said, “Man is born free everywhere he is in chains” ?

(A) Locke (B) Rousseau (C) Marx (D) Bentham

3.  Match List-I with List-II and select the correct answer from the codes given below :

List-I (Book) List-II (Author)
(a) The Politics (i) Machiavelli
(b) The Prince (i) J.S. Mill
(c) The Social Contract (iii) Rousseau
(d) On Liberty (iv) Aristotle
Codes :

(@ () (© @)
(A) (Gv) @) @ (i)
(B) (@) (@v) (i) (@)
Q) () @) Gv) @)
(D) @) G @i ()

4.  According to Aristotle, which of the following is the best form of government ?

(A) Democracy (B) Oligarchy (C) Polity (D) Tyranny
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1. =9 9 9 fg v fauns 7 315 & o Tsifde foar i e7aamn ?
(A) I 3T Heda’ (B) Hd MY TRaA™
(C) I (D) d=hid®

2. 'O 9 9 WA § W dfedl ¥ wiwel § ' fRe e ?

(A) s (B) &I (C) wrH (D) e

3. -1 e gEI-11 &1 e+ oiX 9= fou 1T e =1 99 i g0 98t 3o & =99
Fife

a1 (JF ) ge-11 ( G )
(a) < wferfesd () Fearfaet
(b) THH (i) ST e
(c) T AN hiese (i) w4
(d) &1 faert (iv) ST
He

(@ (b)) (© @)
(A) (v) @) @ (i)
(B) @) (@v) (i) (@)
Q) (@) () @) @)
(D) ) G (@) (i)

4. RS % AR f ¥ § S W WHR S=H © 2
(A) crehd= (B) 3TeUd (C) = (D) A&
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5.  Assertion (A) : According to Locke, the functions of government as well as its powers
are limited.

Reason (R) : Government exists, he says, to protect life, liberty and property.
(A) Both (A) and (R) are true, and (R) is the correct explanation.

(B) Both (A) and (R) are true, but (R) is not the correct explanation.

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

6.  Match List-I with List-II and choose the correct answer from the codes given below :

List-1 (Concepts) List-II (Thinkers)
(a) General Will (i) Machiavelli
(b)  Absolute Sovereignty (i) Locke
(c) Limited Government (iii) Hobbes
(d) New Political Science (iv) Rousseau
Codes :

(@) () (o) (d)
(A) (@) (D) @Gv) (@)
(B) (@) @Gv) @ (D)
Q) (v) (i) @G) @)
(D) @) (@v) (GiD) (i)

7.  According to Plato, the most inferior type of the State is :

(A) Democracy (B) Oligarchy (C) Tyranny (D) Timocracy

8.  According to Aristotle, the best polity is that which is based on the principle of :
(A) Democracy (B) Oligarchy

(C) Mean (D) Quantity and quality

D—0206 4
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10.

11.

12.

13.

14.

15.

Who among the following can be put in the category of ‘Anarchist” ?

(A) M.N. Roy (B) Ambedkar (C) Gandhi (D) TJai Prakash

Who examined the case of liberal democracy from the angle of ‘possessive
individualism” ?

(A) ].J. Rousseau (B) Anthony Downs
(C) C.B. Macpherson (D) Robert Dahl

‘Bhoodan movement’ in India was launched by :
(A) Jayaprakash Narayan (B) The Communist Party of India
(C) Acharya Vinoba Bhave (D) Acharya Narendra Dev

The author of the book “Politics of Scarcity” :
(A) Paul Brass (B)  Myron Weiner
(C) Rajani Kothari (D) Morris Jones

In case of dispute between the two Houses of Indian Parliament over an Ordinary Bill
the case is referred to :

(A) The President of India (B) The Supreme Court of India

(C) Joint meeting of the Houses (D) The Prime Minister of India

Decisions on questions about disqualification of members of the Lok Sabha are made
by :

(A) The Minister for Parliamentary Affairs
(B) The Speaker
(C) Committee on Privileges

(D) The Prime Minister and the Council of Ministers

The right to constitutional remedy in the Indian Constitution is provided for under :

(A) Article 19 (B) Article 32 (C) Article 15 (D) Article 39
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11.

12.

13.

14.

15.
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16.

17.

18.

19.

20.

21.

Which one of the following categories of Fundamental Rights incorporates “Abolition
of Untouchability” ?

(A) Right to Freedom (B) Right to Equality

(C) Right to Freedom of Religion (D) Right against Exploitation

Which one among the following is not stipulated in the Constitution of India ?
(A) Election Commission (B) Union Public Service Commission

(C) Indian National Congress (D) Council of Ministers

Sarkaria Commission was set up for reviewing the relations between :
(A) The President and the Prime Minister

(B) The Legislature and the Executive

(C) The Centre and the States

(D) The national and regional political parties

Nagar Palika Bill was first introduced in Parliament during the Prime Ministership of :
(A) Rajiv Gandhi (B) Narasimha Rao
(C) V.P.Singh (D) Indira Gandhi

Which one of the following parties has the highest percentage of its M.Ps with criminal
cases registered against them ?

(A) Bharatiya Janta Party (B) Samajwadi Party

(C) Rashtriya Janta Dal (D) National Congress Party

The scope of comparative politics include the study of :
(A) formal structures and their functions

(B) political processes

(C) extra-constitutional agencies

(D) all the three above



16.

17.

18.

19.

20.

21.

o § | e q AUeR 407 ‘ geren faa’ i ©
(A) =l 1 STUFRR (B) HHMA 1 HHR

(C) e Tadw=dn &1 ITHHR (D) vl & faeg AR

=9 # 9 91 91 9rdr gfaum o fefia 728 €2
(A) Tref=a smm (B) W e GaT AR
(C) YR T H1UH (D) W= afg

TRHIAT ST ek Fereall & Ao o forg Tenfud fean e ?
(A) Tgufa 3R gamE-A=it

(B) faumfers iR swrrafere

(C) &= IR TH

(D) TEH R &g T <

79 9UTHE=T & HEHRTA U TR ATtk faeaer gem o) Uy foman = ?
(A) i et (B) T(EE @
(C) dtd. foe (D) sf=<w e

1 # 9 fF Tomfas < & 998 9eH STUIfas &9 9 a9 3Afus el qeheHl o
TSiteg @ ?

(A) R SHa1 9 (B) HHISETE! el
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22.

23.

24.

25.

The general systems theory in social sciences was first developed in :
(i)  Psychology

(ii) Anthropology

(iii) Political Science

(iv) Sociology

What is the correct chronological sequence of the above ? Select the correct answer
from the codes given below :

(A) (i), (iv), (i) and (iii) (B) (i), (ii), (iii) and (iv)
(C) (ii), (iv), (iii) and (i) (D) (iii), (i), (i) and (iv)

According to Almond, the input functions of a political system are :
(i) Interest-articulation

(ii) Interest-aggregation

(iii) Rule-making

(iv) Rule-application

Which of these are correct ?

(A) (i) and (ii) (B) (iii) and (iv)

(C) (i), (ii) and (iii) (D) (), (ii), (iii) and (iv)

Who among the following defines modernization as “a multifaceted process involving
changes in all areas of human thought and activity” ?

(A) Kenneth Organski (B) Lucian Pye

(C) Almond and Powell (D) Samuel Huntington

A constitutional government is :

(A) alimited government

(B) a government with a constitution

(C) a government headed by the President

(D) a government headed by the Prime Minister

D—0206 10



22.

23.

24.

25.
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26. Who among the following believed in the theory of circulation of elites ?
(A) Max Weber and Bottomore (B) Pareto and Mosca

(C) Mills and Max Weber (D) Michels and Laski

27. The most powerful legislature in the world is :

(A) Indian Parliament (B) British Parliament

(C) U.S. Congress (D) French Parliament

28. Match List-I with List-II and select the correct answer from the codes given below :

List-1 List-I1
(a) Stages of Political Development (i)  Lucian Pye
(b)  Crises of Political Development (ii) Kenneth Organski
(c) Classification of Political Culture (iii) Almond and Verba
(d) Classification of Political Parties (iv) La Palombara and Myron Weiner
Codes :

(@) (b)) (o) ()
(A) @) @) @) (v)
(B) (1) G) (v) (i)
Q) @) (Gv) G) @)
(D) (@v) (@) G) (i)

29. The ‘procedure established by law’ is a characteristic of the judicial system of :
(A) US.A. (B) U.K. (C) India (D) China

D—0206 12
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30. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The Supreme Court of India cannot declare a bad law invalid.
Reason (R) : The Supreme Court of India follows the ‘due process of law’.
In the context of the two statements, which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

31. The Minnowbook Conference took place in the year :

(A) 1968 (B) 1969 (C) 1970 (D) 1972

32. Who among the following was the first to emphasise the need for a separate study of
Public Administration ?

(A) Frank J. Goodnow (B) Woodrow Wilson

(C) D. Waldo (D) Luther Gulick

33. The principles of Scientific Management developed by Taylor include :
(i)  Incentive of high wages
(i) Standardization of work methods
(iii) Esprit de Corps
(iv) Standardization of working conditions
Which of these are correct ?
(A) (i), (i) and (iii) (B) (i), (ii) and (iv)

(C) (i), (iii) and (iv) (D) (i), (iii) and (iv)
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30. = < asaed ol T T TE HUA (A) B IR THU TR FRI (R) | ¢

HYT (A) : TRAT Fallad =T gL HIT Sl STAg TG T B Hohell |
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(A)  (A) 3R (R) I 72§ SR(R), (A) F T AT T
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(C) (A FE &, T (R) TTerd B
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(A) 1968 (B) 1969 (C) 1970 (D)
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(A) HF I, e (B) =X faeram
C) . IR (D) TR ek
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() S=a yRgfae &1 Y
(i) T YUTEH T AT IR

(iii) I A&
(iv) 1 feafd &1 qFeE
HIE WE 2
(A) (i), (ii) T (i) (B) (i), (i) T (iv)
(C) (i), (iii) T (iv) (D) (i), (iii) T (iv)
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34.

35.

36.

37.

38.

Who among the following propounded the Fourteen principles of organization ?
(A) Henri Fayol (B) J.D. Mooney

(C) L.D. White (D) Dimock and Dimock

Who among the following termed the ‘auxiliary function” as the house-keeping
function ?

(A) W.F. Willoughby (B) L.D. White

(C) Pfiffner and Presthus (D) Dimock and Dimock

The word ‘POSDCORB’ was coined by :
(A) Luther Gulick (B) Marshal Dimock

(C) J.M. Pfiffner (D) D. Waldo

The following were associated with reforms in local government :
(i) Lord Ripon

(iij) Lord Mayo

(iii) Ashok Mehta

(iv) Balwant Rai Mehta

What is the correct chronological sequence of the above ? Select the correct answer
from the codes given below :

Codes :
(A) (i), (i), (iv) and (iii) (B) (i), (ii), (iii) and (iv)
(C) (i), (iv), (iii) and (i) (D) (iii), (iv), (ii) and (i)

The principle that every member of an organization should report to one and only one
leader is called :

(A) Unity of Command (B) Hierarchy

(C) Centralisation (D) Delegation
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34.

35.

36.

37.

38.
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(A) T w (B) W& T
(C) TSl =L (D) < IR SHIE

‘eI FR 1 TR GUTeH 1 F1d fRE et ?
(A) THTE. foaty (B) TA.E. =L

(C) WHR IR gagd (D) S IR S

5T ‘POSDCORB’ fvgar g1 9ftorg fewam o -
(A) TR A (B) TR fedrw
(C) S.uA. AR (D) & S

TGV GUR & Hsa-4d 157 F1 HIEATHA H1 el F 90 ¢
() e R

(i) TS BA

(ili) 79 Wed

(iv) Sead HeEdl

%?‘:
(A) (i), (i), (iv) 3R (iii) (B) (i), (i), (iii) 3T (iv)
(C) (i), (iv), (iii) 3R (i) (D) (iii), (iv), (i) 3R (i)

‘Fad e & FEan &l & 94 = wl R e =1fed’ 39 fagm= & <91 hed ?
(A) STICY T THhal (B) UHIUH
(C) HfgTa (D) YA
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39.

40.

41.

42.

43.

Who is the author of the book ‘Administrative Behaviour’ ?

(A) Herbert Simon (B) L.D. White

(C) Henri Fayol (D) F.M. Taylor

Match List-I with List-II and select the correct answer from the codes given below :

List-1 List-I1
(a) Classical theory of organisation (i)  J.D. Mooney
(b)  Functional foremanship (i) V.A. Graicunas
(c) Span of control (iii) Henri Fayol
(d) Scalar process (iv) F.W. Taylor
Codes :

(@ (b)) (© (@)
(A) (i) (@v) @G) (@)
(B) () G) (v) (i)
Q) @) @Gv) @ (i)
(D) @)  Gid) (v) (i)

Realists construct the international system as :
(A) Co-operative (B) Ideal

(C) Anarchic (D) Non-functional

Power in international relations is :

(A) Absolute (B) Relative (C) Infinite

The universal actor in Kaplan’s Systems approach is :

(A) USA (B) UNO (C) UK

D—0206 18
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45.

46.

47.

48.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R).

Choose the correct answer from the given codes.

Assertion (A) : ‘Collective security is a mirage’.

Reason (R) : States do not have a common perception of threat.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

‘Prisoner’s dilemma’ is a phenomenon’ that fuels :
(A) Arms race (B) Arms control

(C) Disarmament (D) Peace

The military alliances are formed on the basic concept of :
(A) Collective defence (B) Collective security

(C) Co-operative security (D) Comprehensive security

International law in its application is :

(A) Universal (B) Partial (C) Absolute (D) Relative

Identify the correct chronological sequence of the following events :

(A) Truman doctrine; Munroe doctrine; Brezhnev doctrine; Guam doctrine.
(B) Munroe doctrine; Truman doctrine; Brezhnev doctrine; Guam doctrine.
(C) Guam doctrine; Brezhnev doctrine; Truman doctrine; Munroe doctrine.

(D) Brezhnev doctrine; Truman doctrine; Guam doctrine; Munroe doctrine.
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49. Match List-I with List-II and answer the correct match by using the codes given

below :

List-1 List-11
(a) Gentz (i)  Collective security
(b) Norman Angell (ii) Interdependence
(c) Kant (iii) Perpetual peace
(d) Woodrow Wilson (iv) Balance of power
Codes :

(@) () (o) (d)
(A) (v) (@) (@) (@)
(B) (i) (@) (v) (i)
Q) () @) @  (v)
(D) @) @) Gv) (i)

50. Identify the correct chronological sequence of the following events :
(A) Helsinki Summit; Congress of Vienna; Bay of pigs; Versailles Conference.
(B) Versailles Conference; Bay of pigs; Helsinki Summit; Congress of Vienna.
(C) Congress of Vienna; Versailles Conference; Bay of pigs; Helsinki Summit.

(D) Bay of pigs; Helsinki Summit; Congress of Vienna; Versailles Conference.

-00o0-
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